HOSE END SPECIFICATIONS

3001 04 06 08 10 12 16 20 24
Straight NUTHEX A 9116 11/16 7/8 1 11/4 112 2 21/4
o Aluminum BODY HEX B 916 1116 7/ 1 114 112 2 2 1/4
Auto-Fit SOCKETHEX C 58 34 78 1116 1316 1716 134 11516
OALENGTH D 158 17/8 23/16 238 212 27/8 3316 37/8
c Hose End \orimax) E 232 78 1182 1732 17/16 134 2516 219/32
N~ FLARETOEND F 11/32 3/8 7146 12 17/32 58 1116 13/16
o : 3001 CUT-OFF G 78 1516 11/8 11/4 1516 15116 19/16 15/8
OPERATING P.S.I. 1500 1500 1500 1250 1000 750 500 250
BURST EXCEEDS 6000 6000 6000 5000 4000 3000 2000 1000
6150 4 6 8 10 12 16 20 24
o NUT HEX A 916 11716 7/8 1 114 112 2 21/
45° BODY HEX B 946 1116 758 1 11/4 112 134 2
Tubular SOCKETHEX C 58 3/4  7/8 11/16 13/16_17/16 13/4 115/16
c Auto-Fit OALENGTH D 21/8 217/32 229/32 35/32 37/16 4 1/8 43/4 51/4
LS Hose Eng WOTHMAX) € 11/ 15/16 1233211562316 212 215/16 37/16
e FLARETOEND F 7/16 17/32 916 21/32 3/4 15/16 13/16 17/16
CUT-OFF G 19/32 17/16 158 17/8 21/16 2516 234 3
30 46 CL.TOFLARE H 11/32 716 9/16 58 2332 11/16 13/16 31/32
EDGETO FLARE | 7/16 1/2  19/32 23/32 13/16 11/32 13/16 11/4
G F OPERATING P.S.I. 1500 1500 1500 1250 1000 750 500 250
BURST EXCEEDS 6000 6000 6000 5000 4000 3000 2000 1000
3091 4 6 8 10 12 16 20 24
NUT HEX A 916 11716 7/8 1 11/4 112 2 21/
90° BODY HEX B 9/16 11/16 7/8 1 112 112 13/4 2
Tubular SOCKETHEX C 58 34  7/8 11/16 1316 17/16 _13/4 115/16
Auto-Fit OQALENGTH D 113/16211/32 212 23/4 3316 378 458 &
WIDTH(MAX) E 158 11316 2 21/4 258 31/8 358 41/16
e HoseEnd i pe1oend F 1132 1332 12 96 2082 78 1532 15/16
CUT-OFF G 11/16 1516 13/8 19/16113/16 23/16 25/8 23/4
. 3091 CLTOFLARE H 13/16 11/32 11/16 15/32 17/16 111/16 23/32 29/32
H EDGE TOFLARE | 11/32 3/8 7146 1/2 1/2 11/16 11/16 13/16
OPERATING P.S.I. 1500 1500 1500 1250 1000 750 500 250
BURST EXCEEDS 6000 6000 6000 5000 4000 3000 2000 1000
‘ b 3091 4 6 8 10 12 16
NUT HEX A 916 1116 718 1 11/4 11/2
- 120° BODY HEX B 916 1116 78 1 1172 11/2
Tubular  SOCKET HEX c 58 3/4 78 1116 1316  17/16
Auto-Fit -O-ALENGTH D 121/32 115116 27/32 21/2  23/4 37116
WIDTH (MAX) E 11516 2116 2516 22532 31/8  311/16
H E Hose End [ geroeno  F 716 17/32 58 11116 13/16 15/16
CUT-OFF G 1516 1516 13/8 19/16 11316  23/16
31 20 CL.TOFLARE H 13116 1316 1116 11/4 15/6 15/8
EDGE TO FLARE | 172 182 932 1116 34 15/16
\ OPERATING P.S.. 1500 1500 1500 1250 1000 750
. e BURST EXCEEDS 6000 6000 6000 5000 4000 3000




HOSE END SPECIFICATIONS

e T

o

3150 4 6 8 10 12 16
NUT HEX A 916 1116  7/8 1 11/4 11/2
150° BODY HEX B 916 11716  7/8 1 1172 11/2
Tubular  SOCKET HEX C 58  3/4 718 1116 1316  17/16
Auto-Fit QA LENGTH D 15/8 131/32 211/32 258 21516 3916
WIDTH (MAX) E 17/8 2332 212 3 35/8 45/16
Hose End fareToEND F 1316 13/32 11/8 11/4  111/16 11/2
CUT-OFF G 716  5/8 34 13116 3/4 1
31 50 C.L. TO FLARE H 11/8 1316 115/32 13/4 25/32 21/2
EDGE TO FLARE | 1332 12 916 21/32  13/16 1
OPERATING P.S.. 1500 1500 1500 1250 1000 750
BURST EXCEEDS 6000 6000 6000 5000 4000 3000
3180 4 6 8 10 12 16
NUT HEX A 916 1116  7/8 1 11/4 11/2
180° BODY HEX B 916  11/16 7/8 1 11/2 11/2
Tubular  SOCKET HEX G 58 3/4 78 1116 13/16  17/16
Auto-Fit  :OA LENGTH D 13/4 21/4 217/32 27/8  31/2 4
WIDTH (MAX) E - 113/16 2516 217/32 33/16 4716 4 11/16
Hose End ¢ oer0eno F 1732 17716 158 11516 2916 258
CUT-OFF G 516  5/16 38 1132 716 12
31 80 C.L. TO FLARE H 11/8 1172 11/2 2 3 3
EDGE TO FLARE | 11/32 13/32 /2 9116  23/32 7/8
OPERATING P.S.I. 1500 1500 1500 1250 1000 750
BURST EXCEEDS 6000 6000 6000 5000 4000 3000
6001 03 33 93 43. 04 34 94
. NUT HEX A 172 12 12 916 9/16  9/16 916
Straight  5opy hex B 12 12 e 916 916  9/16 916
Speed Seal sockeTHEX C 716 12 716 716 9/16 58 9/16
Hose End OA LENGTH D 138 138 138 11332 1916 1916 19/16
WIDTH (MAX) E  37/64 37/64 37/64 21/32 21/32 1116  21/32
FLARETOEND F 516 516 516  11/32 11/32 11/32  11/32
6001 CUT-OFF G 2332 23/32 2332 34 25/32 2532 2532
OPERATING P.S.I. 2000 2000 2000 2000 2000 2000 2000
BURST EXCEEDS 8000 8000 8000 8000 8000 8000 8000
6001 06 36 9 3g
. NUT HEX A 1116 1116 1116  7/8
Straight  5opy Hex B 11/16 1146 11116 78
Speed Seal SoCKETHEX C 1116 34 1116 78
Hose End OA LENGTH D 123/32 123/32 123/32 2
WIDTH (MAX) E. 51/64  7/8  51/64 11/64
FLARETOEND F 3/8 3/8 3/8 7116
6001 CUT-OFF G 27/32 27/32 27/32  15/16
OPERATING P.S.. 1500 1500 1500 1000
BURST EXCEEDS 6000 6000 6000 4000




HOSE END SPECIFICATIONS

o

[

45°

Non-Adjustable

Low Profile
Speed Seal
Hose End

6044

45°

Adjustable

Low Profile

Speed Seal
Hose End

]

D
-n

6045

45°
Adjustable
Low Profile
Speed Seal
Hose End

6045

6044 03 04

NUT HEX A 1/2 9/16

SOCKET HEX C 7/16 9/16

O.A LENGTH D 15/8 13/4

WIDTH (MAX) E 1516 11/16

FLARETOEND F 7716 716

CUT-OFF G 7/8 15/16

C.L.TOFLARE H 5/16 5/16

EDGE TO FLARE | 7/16 7/16

OPERATING P.S.I. 2000 2000

BURST EXCEEDS 8000 8000

6045 03 33 93 04 34 94
NUT HEX A 12 12 1/2 9/16 9/16 9/16
SWIVEL HEX B 12 12 172 9/16 9/16 9/16
SOCKET HEX C 7116 12 716 9/16 5/8 9/16
.O.AA LENGTH D 17/8 17/8 17/8 21/32  21/32 21/32
WIDTH (MAX) E 1 11/32 1 1116 11/32 11/16
FLARETOEND F 7/16 716 716 15/32  15/32 15/32
CUT-OFF G 11/8 11/8 11/8 15/32  15/32 15/32
C.L.TOFLARE H 1/4 1/4 1/4 5/16 5/16 5/16
EDGE TO FLARE | 716 7/16 716 15/32  15/32 15/32
OPERATING P.S.1. 2000 2000 2000 2000 2000 2000
BURST EXCEEDS 8000 8000 8000 8000 6000 6000
6045 06 36 96 38

NUT HEX A 11/16 11/16 11/16 7/8

SWIVEL HEX B 1116 11/16 11/16 7/8

SOCKET HEX C 11/16 3/4 11/16 7/8

O.A.LENGTH D 27/32  27/32 27/32  211/16

WIDTH (MAX) E 19/32 15/16  19/32 15/8

FLARETOEND F 17/32 17/32 17/32 9/16

CUT-OFF G 19/32  19/32 19/32 19/16

C.L.TOFLARE H 3/8 3/8 3/8 9/16

EDGE TO FLARE | 12 12 1/2 19/32

OPERATING P.S.1. 1500 1500 1500 1000

BURST EXCEEDS 6000 6000 6000 4000




HOSE END SPECIFICATIONS

45° Tubular 6046 03 33 04 34
. Non- NUT HEX 1/2 1/2 9/16 9/16
" . 2 9/16 9/16
Ad ustable BODY HEX 12 1
' S J d Seal SOCKET HEX 7/16 1/2 9/16 5/8
. peed Seal "5, " enagTH 11516 11516 2 2

FLARE TO END 716 7116 7116 7116

6046 CUT-OFF 11/4 11/4 11/4 11/4
C.L. TO FLARE 5/16 5/16 5/16 5/16

A
B
¢
D
HoseEnd wiotHMAX) E 118 118 118 118
F
G
H
!

EDGE TO FLARE 716 716 7116 7116
e . OPERATING P.S.I. 2000 2000 2000 2000
BURST EXCEEDS 8000 8000 8000 8000
6047 03 33 93 04 34 94
A NUT HEX A 1/2 12 1/2 916 9/16 916
l B 45° Tubular SWIVEL HEX B 1/2 1/2 1/2 9/16  9/16 9/16
Adjustable SOCKETHEX _C _ 7/16 12 716 916  5/8 a6
OALENGTH D 2116 2116 2116 23/16 2316 23/16
R ‘ Speed Seal (/- (MAX) E 1146 1146 11/16 1316 17/32 13/16
T Hose End ¢ retoeno £ 7716 716 7716 15/32 152 15/32
CUT-OFF G 1516 1516 1516 111/32 111/32 111/32
60 47 CLTOFLARE H  5(6 516 516  11/32 11/32  11/32
EDGE TOFLARE | 746  7/16 7146  15/32 15/32  15/32
a r OPERATING P.S.I. 2000 2000 2000 2000 2000 2000
BURST EXCEEDS 8000 8000 8000 8000 8000 8000
6047 06 36 96 38
A NUT HEX A 1116 11716  11/16 7/8
' B 45° Tubular SWIVEL HEX B 1116 1116 11/16 7/8
; Adjustable SOCKETHEX C 1116 %4 _ 11/16 7/8
OALENGTH D 258 219/32 258  215/16
e s Speed Seal /- (MAX) E 138 15/16 13/8  123/32
'I Hose End i apetoenD F 1732 1782 17732 9/16
/ * CUT-OFF G 121/32 158 12132 13/4
. CLTOFLARE H 1732 7716  17/32 9/16
i 6047 EDGE TOFLARE | 17/32  17/32  17/32 9/16
e F OPERATING P.S.I. 1500 1500 1500 1000

BURST EXCEEDS 6000 6000 6000 4000




HOSE END SPECIFICATIONS

 — 3

6089 03 04
90° NUT HEX A 1/2 916
i o Low Profile SOCKETHEX C 7/16 9/16
OALENGTH D 11332 112
c Non-Adjustable wiptHMAX) E 117532 19/32
T Speed Seal FLARETOEND F 9/32 11/32
E Hose End CUT-OFF G 1116 1116
ﬁ CL TOFLARE H _ 19/32 5/8
A EDGE TO FLARE | 11/32  11/32
%] s 6089 OPERATING P.S.. 2000 2000
o = BURST EXCEEDS 8000 8000
6090 03 33 93 04 34 94
90° NUT HEX A 12 1/2 12 916 9116 9/16
.. SWIVELHEX B 1/2 12 1/2 916  9/16 916
Low Profile soceriex ¢ 7716 12 716 9/16 58 916
Adjustable oA LENGTH D 117/32 117/32 117/32 123/32 123/32 123/32
Speed Seal WIDTH(MAX) E  17/322 17/32 17/32 19/32 111/32 19/32
Hose End FLARETOEND F  7/32 9532  9/82 1132 11/32  11/32
CUT-OFF G 1516 15/16 1516  29/32 29/32  29/32
CL TOFLARE H  19/32  19/32 19/32 5/8 5/8 5/8
6090 EDGE TOFLARE |  11/32  11/32  11/32  11/32 11/32  11/32
OPERATING P.S.I. 2000 2000 2000 2000 2000 2000
BURST EXCEEDS 8000 8000 8000 8000 8000 8000
6090 06 36 96 38
90° NUT HEX A 1116 1116 1116  7/8
_ SWIVELHEX B 1116 11/16  11/16 7/8
Low Profile gockerveEx ¢ 1116 34 1116 78
Adjustable OA LENGTH D 11516 11516 11516 211/32
Speed Seal WDTH(MAX) E  19/16 1916 19/16  17/8
E Hose End FLARETOEND F 1332 132  13/32 1/2
CUT-OFF G 1 1 1. 11/4
op) CL TOFLARE H 3/4 3/4 3/4 15/16
! 6090 EDGE TO FLARE | 3/8 3/8 3/8 7116
a ; OPERATING P.S.I. 1500 1500 1500 1000
BURST EXCEEDS 6000 6000 6000 4000




HOSE END SPECIFICATIONS

-~ T

.

| E——

E

Fem|

/44;

e

| I——

Fi

.

e o

F|

90°
Non-Adjustable
Speed Seal
Hose End

6091

90° Tubular
Adjustable

Speed Seal

Hose End

6092

90° Tubular
Adjustable

Speed Seal

Hose End

6092

6091 03 33 04 34

NUT HEX A 12 12 9/16 9/16

BODY HEX B 1/2 1/2 9/16 9/16

SOCKET HEX C 7116 12 9/16 5/8

OA.LENGTH D 19/16  19/16 113/16  113/16

WIDTH (MAX) E 15/16 13/8 19/16 15/8

FLARETOEND F 9/32 9/32 5/16 5/16

CUT-OFF G 7/8 7/8 11/8 11/8

C.L.TOFLARE H 11/16 11/16 13/16 13/16

EDGE TO FLARE | 11/32 11/32 11/32 11/32

OPERATING P.S.1. 2000 2000 2000 2000

BURST EXCEEDS 8000 8000 8000 8000

6092 03 33 93 04 34 94
NUT HEX A 12 12 12 9/16 9/16 9/16
SWIVEL HEX B 12 1/2 1/2 9/16 9/16 9/16
SOCKET HEX C 7116 12 7/16 9/16 5/8 9/16
.O.A.LENGTH D 13/4 113/16  13/4 2 2 2
WIDTH (MAX) E 1716 112 11716  119/32 117/32 119/32
FLARETOEND F 9/32 9/32 9/32 11/32 3/8 11/32
CUT-OFF G 13/16 11/4 13/16 17/32  17/32 17/32
C.L.TOFLARE H 13/16 7/8 13/16 1 7/8 1
EDGE TO FLARE | 11/32 11/32 11/32 11/32 11/32 11/32
OPERATING P.S.I. 2000 2000 2000 2000 2000 2000
BURST EXCEEDS 8000 8000 8000- 8000 8000 8000
6092 06 36 96 38

NUT HEX A 11/16 11/16 11/16 7/8

SWIVEL HEX B 11/16 11/16 11/16 7/8

SOCKET HEX C 11/16 3/4 11/16 7/8

OA LENGTH D 213/32 25/16 213/32 219/32

WIDTH (MAX) E 115/16 113/16 115/16 13132

FLARETOEND F 7/32 9/32 9/32 12

CUT-OFF G 15/16 15/16 15/16 1172

C.L.TOFLARE H 11/8  11/32 11/8 11/16

EDGE TO FLARE | 3/8 3/8 3/8 7/16

OPERATING P.S.I. 1500 1500 1500 1000

BURST EXCEEDS 6000 6000 6000 4000




HOSE END SPECIFICATIONS

i o 6121 03 33 93 04 34 94
120° NUT HEX A 1/2 1/2 112 9/16  9/16 916
s ” SWIVELHEX B 12 12 112 9/16  9/16 9/16
Tubular  gockeTheEx ¢ 716 1/2 7/16 916 58 9116
Adjustable OA.LENGTH D 112 12332 12 11516 17/8 115/16
! I Speed Seal WIDTH (MAX) E 119/32 17/8 117/32 17/8 115/16 17/8
l ] Hose End FLARETOEND F 1332 12 1332 17/32  17/32  17/32
CUT-OFF G 1316 11716 13116 1532 1116 15/32
CL TOFLARE H 7/8 1116  7/8 118  11/8 11/8
K A ! 61 21 EDGE TO FLARE | 3/8 3/8 3/8 1/2 1/2 1/2
{ OPERATING P.S.I. 2000 2000 2000 2000 2000 2000
o . BURST EXCEEDS 8000 8000 8000 8000 8000 8000
i o 6121 06 36 96 38
120° NUT HEX A 1116 1116 11/16 7/8
. c SWIVELHEX B 1116 1116  11/16 7/8
Tubular  SockeTrEx ¢ 1wvie a4 116 78
Adjustable oA (ENGTH D 112 12332 12 17/8
H L Speed Seal WIDTH(MAX) E  21/4 21/32 21/4  25/16
J Hose End FLARETOEND F  17/32  17/32  17/32 5/8
CUT-OFF G 1116 11/8 1116 17/32
CLTOFLARE H 11/8 118 118 11/
K A f 61 21 EDGE TO FLARE | 1/2 1/2 1/2 19/32
i OPERATING P.S.I. 1500 1500 1500 1000
& : BURST EXCEEDS 6000 6000 6000 4000

- 6151 38
| 150° NUT HEX A 7/8
SWIVELHEX B 7/8
Tubular  SocceThex ¢ 7/8

Adjustable oA tENGTH D 212

Speed Seal WIDTH(MAX) E  21/8

i T Hose End FLARETOEND F  11/8
CUT-OFF G 3/4

CLTOFLARE H 17/16

61 51 EDGE TOFLARE | 9/16

OPERATING P.S.l. 1000

BURST EXCEEDS 4000




HOSE END SPECIFICATIONS

8001 06 08 10 12 16
. NUT HEX A 1116 7/8 1 11/4 11/2
Straight CurreERrEX B 1116 78 1 11/4 1172
Swivel Seal SOCKET HEX C 3/4 7/8 1116 13/16 17/16
Hose End .OA.LENGTH D 125/32 23/16 27/16 21/2  215/16
WIDTH (MAX) E 7/8  11/32 17/32 17116 13/4
FLARETOEND F 3/8 7/16 12 17/32 1/2
: 4 8001 Gcurore G 15116 13/16 15/16 15/16 _ 19/16
OPERATING P.S.I. 1500 1500 11250 _ 1000 750
BURST EXCEEDS 6000 6000 5000 4000 3000
8045 06 08 10 12 16
. , NUT HEX A 1116 _ 7/8 1 114 1172
' 45° CUTTER HEX B 5/8  13/16  15/16 11/16 112
Low Profile SOCKETHEX _ C 3/4 7/8 1116 13/16 _ 17/16
¢ . OA LENGTH D  21/2 31/32 35/16 31116 41/4
Il Swivel Seal Wrritviax)  E 1516 158 11316 2316 212
i Hose End FaAReTOEND F 1732 916 21/32  3/4 _ 15/16
CUT-OFF G 11/2 113/16 11516 27/32 21/2
80 45 CL TOFLARE H 3/8 9/16  9/16  23/32  11/16
EDGE TO FLARE | 12 19/32 23132 13/16  11/32
a F OPERATING P.S.I. 1500 1500 1250 1000 750
BURST EXCEEDS 6000 6000 5000 4000 3000
8046 06 08 10 12 16
NUT HEX A 1116 7/8 1 11/4 11/2
‘ ° 5 CUTTER HEX B 5/8  13/16__ 15116 _11/16 __ 15/16
45° Tubular sockeT HEX C 3/4 7/8 11116 13/16 17/16
] N Swivel Seal .0.A. LENGTH D 27/8 3316  31/2 4 43/8
f Hose End WIDTH (MAX) E 1516 123/32 115/16 23/16 21/2
T FLARETOEND F  17/32 9/16 _ 21/32  3/4 15/16
CUT-OFF G 115/16 _21/8 23/16 _25/8 23/4
8046 CL.TOFLARE __H 7116 9/16 5/8  23/32 11/16
EDGE TO FLARE | 1/2 19/32  23/32 _ 13/16 11/32
R . OPERATING P.S.l. 1500 1500 1250 1000 750
BURST EXCEEDS 6000 6000 5000 4000 3000
. . 8091 06 08 10 12 16
] NUT HEX A 111678 1 11/4 112
CUTTER HEX B 5/8 1316 1516 11/16 15/16
— c 90° Tubular gockeTHEX  C 3/4 758 1116 1316 1716
. Swivel Seal .0.A.LENGTH D 2716 22532 31/8 358 43116
! | Hose End WIDTH( MAX) E 11316 2 21/4 258 318
l FLARETOEND F  13/32 12 916 25/32 718
CUT-OFF G 158 134 11516 21/ 25/8
VY I 8091 ciLtorare w 1im2 16 1sm2 1716 11116
! EDGE TOFLARE | 38 716 12 1/2 11/16
e el OPERATING P.S.I. 1500 1500 1250 1000 750

BURST EXCEEDS 6000 6000 5000 4000 3000




HOSE END SPECIFICATIONS

———

E

p——

2]
n

90°
‘Low Profile
Swivel Seal
Hose End

8090

120°
Tubular
Swivel Seal
Hose End

8120

150°
Tubular
Swivel Seal
Hose End

8150

180°
Tubular
Swivel Seal

8180

8090 06 08 10 12 16
NUT HEX A 1116 7/8 1 11/4 11/2
CUTTER HEX B 58  13/16  15/16  11/16  15/16
SOCKETHEX _ C 3/4 7/8 11716 13/16  17/16
OA LENGTH D 21/8 21/2 213/16 35/16 3 45/64
WIDTH (MAX) E 1916 17/8 23/16 29116 247/64
FLARETOEND F  13/32 12 916  23/32  27/32
CUT-OFF G 1516 13/8 1916 17/8 21/8
CL TOFLARE H 3/4 15116 11116 13/8 5/8
EDGE TO FLARE | 3/8 7/16 1/2 1/2 11116
OPERATING P.S.1. 1500 1500 1250 1000 750
BURST EXCEEDS 6000 6000 5000 4000 3000
8120 06 08 10 12 16
NUT HEX A 11716 7/8 1 11/4 11/2
CUTTER HEX B 58  13/16 15116 11/16 15/16
SOCKET HEX C 34 7/8 1116 13/16 17/16
O.A. LENGTH D 2316 217/32 227/32 33/16 33/4
WIDTH (MAX) E 2116 25116 22532 31/8 311/16
FLARETOEND F 17/32 58 11/16 13/16 15/16
CUT-OFF G 1516 138 11/2 13/ 21/8
C.L. TO FLARE H 11/8 114 117/32 11316 21/32
EDGE TO FLARE | 12 19/32 11116 3/4 15/16
OPERATING P.S.. 2000 2000
BURST EXCEEDS 6000 6000
8150 06 08 10 12 16
NUT HEX A 1116 /8 1 11/4 1172
CUTTER HEX B 58 1316 15/16  11/16 15/16
SOCKET HEX C 34 7/8 1116 13/16 17/16
O.A. LENGTH D 21/4 258 215/16 37/16 3 15/16
WIDTH( MAX) E 23/32 212 3 35/8 45/16
FLARETOEND F 1316 11/8 11/4 111/32 11/2
CUT-OFF G 78 1 11/8 13/8 121/32
C.L. TO FLARE H 13/16 115/32 13/4 25/32 21/2
EDGE TO FLARE | 1/2 9/16  21/32  13/16 1
OPERATING P.S.I. 1500 1500 1250 1000 750
BURST EXCEEDS 6000 6000 5000 4000 3000
8180 06 08 10 12 16
NUT HEX A 1116 7/8 1 11/4 11/2
CUTTER HEX B 58  13/16 1516 11/16 15/16
SOCKET HEX C__ 34 7/8 1116 13/16 17/16
.0.A. LENGTH D 11/2 27/8 31/4 31516 438
WIDTH (MAX) E 1516 217/32 3316 47/16 __ 411/16
FLARETOEND F 17/16 158 115/16 29/16 25/8
CUT-OFF G 21/32  3/4 23/32  3/4 1
CL.TOFLARE H 112 112 2 3 3
EDGE TO FLARE |  13/32  1/2 916 23/32 7/8
OPERATING P.S... 1500 1500 1250 1000 750
BURST EXCEEDS 6000 6000 5000 4000 3000




HOSE END SPECIFICATIONS

180°
Tubular
Adjustable
3 Speed Seal
Hose End

6181

180°
Tubular
Adjustable
Speed Seal
Hose End

6181

6181 03 33 04 34 06 36
NUT HEX A 12 12 1/2 9/16 9/16 9/16
SWIVEL HEX B 1/2 12 12 916 9/16 9/16
SOCKET HEX C 716”7 12 7/16 9/16 5/8 9/16
.O.A. LENGTH D 11116 17/8 11116 2 2 2
WIDTH (MAX) E 1916 11116  19/16 11/8 11/8 11/8
FLARETOEND F 1 11/8 1 11/8 11/8 11/8
CUT-OFF G 5/16 7116 5/16 716 7/16 7/16
C.LLTOFLARE H 1 11/8 1 11/8 11/8 11/8
EDGE TO FLARE | 9/32 9/32 - 9/32 1132 11/32 11/32
OPERATING P.S.1. 2000 2000 2000 2000 2000 2000
BURST EXCEEDS 8000 8000 8000 8000 8000 8000
6181 06 36 96 38

NUT HEX A 11/16 11/16 11/16 7/8

SWIVEL HEX B 11/16 11/16 11/16 7/8

SOCKET HEX C 11/16 3/4 11/16 7/8

OA LENGTH D 211/32 211/32 211/32 25/8

WIDTH (MAX) E 2516  211/32  25/16 217/32

FLARETOEND F 1716 17116 17/16 15/8

CUT-OFF G 15/32 15/32 15/32 12

C.L.TOFLARE H 112 11/2 112 1172

EDGE TO FLARE | 13/32 13/32 13/32 12

OPERATING P.S.L 1500 1500 1500 1000

BURST EXCEEDS 6000 6000 6000 4000




